Information Value Calculation for Continuous Dependent Variable

« Page 2 shows Information Value Calculated by info_con.sas

— The ranges are determined by even accounts (about 10% each). The WOE™ has
zigzag trend (so does ODDS).

— The information value is higher than that on page 3/4 because the noise has not
been smoothed out.
« Page 3 shows Information Value Calculated by info_conn.sas with &PEAKS=1

— &PEAKS=1 (default) allows WOE to have at most ONE peak (maximum/minimum value)
along positive side (or negative side). Range >130 — 150 is a peak (maximum).

— The significant digit was set to 2 and the ranges look better than those by info_bin.sas.

« Page 4 shows Information Value Calculated by info_conn.sas with &PEAKS=0

— &PEAKS=0 allows WOE to have no peak at all along positive side (or negative side), which
means that WOE must be monotonic along either positive side or negative side.

— The significant digit was set to 2 and the ranges look better than those by info_bin.sas.

Note: Information Value of page 2 is greater than Information Value of page 3 since the
noise is not smoothed out, and
Information Value of page 3 is greater than Information Value of page 4 since
&PEAKS=0 will force WOE to be monotonic.

* WOE = Weight Of Evidence, see definition on page 2.




Information Value Calculated by info_con.sas

Variable Name

Log(9.4%/3.8%) = 0.91

Variable’s Label (if any)

Weight Of Evidence (WOE) is the Natural Log of
(First% / Second%): If the percentage of First is
greater than the percentage of Second, then WOE is
negative. Otherwise is positive or zero (when equal)

Ln(9.4%/3.8%) = 0.91 (Excel)

It is equal to
(# of First) /

(# of second)
711/872=0.815

Charac®eristic: (aTTROOOS l
It's the number of Labe-'@
accounts with the R N S S
dependent variable First second WT Each
&YDEPORIG 7= . Principal Principal of || Cell||e
(sample case attribute # % # * Evid|| Odds
REVENUE *=) | | ======—=—=——=—___=————p————_-—=————_ f=————=
=0-70 F11 11.% B2 | 1o.2 0,15 [o,.815
=70-90 546 8.1 B509 9.4 -0.04 0,675
=90-120 638 1l0.4 F0L .2 0.2 0,910
=120-140 bd4s 10,7 a7l 4.3 0,91 1.731
=14 0-16a0 5652 G.4 323 .8 | 0,91 0740
=1ad-185 8627 10.45 653 F.8 0 0.32 0,980
549 /5993 = 9.2% (0.092) 155210 S5 >= g; 4 84 5.7 0.48 1.1535
=210-290 520 . Ha 9 5.9 -0.13 0.8l13
}E'EID—E%D Bos 10,1 1512 | 17.6 -0.56 0.400
1998 /8573 =23.3% B2 0=H7 gh D52 8.9 1955 ;E -0.868 0.298
Sums of the Columns a1 5893 100.0 8573 [100. 0
5993/ 8573 = 0.699 UvEr 4 -popatation odds 2 0, 655 - —
Info value of ATTROQOS: 30,33 [« |

Sum of the dependent variable
&YDEPORIG (sample case: revenue)
divided by the overall mean of &YDEPORIG
which was calculated after it has been

Information Value (1V) is

| the Sum of each range’s

sub-IV which is defined
as

(First% - Second%)
*“WOE

(First% - Second%)*
LOG(First% / Second%)

trimmed at 2%(default)




Information Value Calculated by info_conn.sas with

| &PEAKS=1

A 4

Variable Name

Weight Of Evidence (WOE) is the Natural Log of
(First% / Second%): If the percentage of First is
greater than the percentage of Second, then WOE is
negative. Otherwise is positive or zero (when equal)

Log(10.8%/5.2%) = 0.74

Variable’s Label (if any)
Ln(10.8%/5.2%) = 0.74 (Excel)
Characeeristic: KATTROOOS]
It's the number of Lahel: D
accounts withthe | |- === ————p=====c===== e mE——— mE——— ;
dependent variable First second WwT || Each : 'Eifsqt;?l t(%(ffOf
&\ga'i’?e'?(':gs’:- _ Principal Principal|| of || celllle second)
REVENUE "= ) e = L T - ¢ % |LEvidilogdsll | 1113930-1.186
»0-H5 1114 18.8 G138 [ 15.7 0.17 A peak is a local -
_ »85-110 550 O, 2 413 0.9 0.29 1,352 iy
&SIGDICIT=2 . p1Lo-130 17 ®.6  328| 5.5 0.45 1.575 minimum or
Nx130-150 B4% 10,8 311 5.2 0BG ,
+150-220 1621 27.0 1032 | 17.2 O.45 1.570 0.7 I8 greater Inan
45515993 = 7.6% (0.076) 22 0= 45—, 6 747 12,5 -0.50 0,609
>370-670 553 5.2 1080 18.0 -0.67 0.512 Also can see from
114475993 = 10,19 | jborotgn i — A 14 ),i9. 1] 70.76 0.468 Each Cell Odds
p—— Py | 5993 100.0 5993 [100.0
___________________________________________________________ Information Value (1V) is
AP [ [ ey [ Al || the Sum of each range’s
5993/ 5993 = 1 T [= | r\_ll_lr_”_vl | = L L L P | I ] » 1- I:Il:lr:l / _ . . .
(always) Info value of ATTRO00S: [27.18}—— sub-IV which is defined
| | (First% - Second%)
*WOE

First of all, &YDEPORIG is trimmed at 2%(default).

Sum of the dependent variable &YDEPORIG (sample
case: revenue) divided by the overall mean of
&YDEPORIG.

Note: This treatment forces the totals to be equal no
matter what the scale of the dependent variable is.

(First% - Second%)*
LOG(First% / Second%)




Information Value Calculated by info_conn.sas wit

&PEAKS=

A 4

Variable Name

Variable’s Label (if any)

Weight Of Evidence (WOE) is the Natural Log of
(First% / Second%): If the percentage of First is
greater than the percentage of Second, then WOE is
positive. Otherwise is negative or zero (when equal)

Log(7.6%/12.5%) = -0.5

Ln(7.6%/12.5%) = -0.5 (Excel)

It's the number of

|Label |

ICharacEf%ﬁstic: (ATTROOOS
)

accounts with the ;
dependent variable N e e T e e N 'J'“ ““““ | It ||§ire9%171l t(%(ffOf
SYDEPORIG "= | First second WT || Each]|fe second)
égﬂgﬁﬁéff) | Principal Principal{| of [|Cell|| | 44s03025=1472
|attribute # % % Evid| | odds y
&SIGDIGIT=2 | ———————————————————————————————————————————————————— ————— _ A peak is a Io_cal
N0-220 4450 74,3 3023 0.4 0,30 1.477 &rg'g;i‘;mg’rmax'mv‘i/rgé
=7.6% (0. |2 2270 L _ =0 means
455 /5993 = 7.6% (0.076) | |sP30-370 455 7.6 747| 12.5|-0. S0jmEOEy & CAS=0 means I
| 370-670 553 9.2 1080 180 -0.67 0,512 positive side and
1144 1 5993 = 19.1% i At H'igh b5 o H44»15,11-0.76 0,48 I monotonlscié); negative
___________ Zero and Missing won't
Sums of the Columns /+l:'-.-|-| h094 100.0 hGGs 100, 0 | count
— | __________________T_______T _______________________________ | Information Value (IV) is
599(381{\/\/292:)3 =1 = 1.000 | the Sum of each range’s
/ | Info value of ATTROO0S: [5.22]._ 1 ————— ]| sub-Vwhichis defined
as
| | (First% - Second%)
. . *WOE
First of all, &YDEPORIG is trimmed at 2%(default). B
Sum of the dependent variable &YDEPORIG (sample e - o)k
case: revenue) divided by the overall mean of (First% - Second%)

&YDEPORIG.

Note: This treatment forces the totals to be equal no
matter what the scale of the dependent variable is.

LOG(First% / Second%)
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